Sections 4.3– Even Answers (mostly!)
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Section 4.3

Class Exercises

1. 
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5. since 
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6. since 
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7. since 
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Section 4.3 (continued)
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Review 4.3

1. 3xy3 – 2x2 + 7xy6
2. The first graph is shifted 

down 2 units and then the 

negative (y) part is reflected 

about the x-axis. The 2nd 

graph is not changed by the 

absolute value signs since x2 

is never negative. Then this 

basic shape is shifted down 2.
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5. -60o
6.  2,4

7. 
[image: image33.wmf]95

5

 
Section 4.4 (continued)
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39. f + g (green)
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40. f + g (green)
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41. D = 
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42. f.p. = 
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Section 4.5 (continued)
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14. Take the sine of each 

answer. 
16. .35

18. ½ 
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26. No, since by definition 
the definition of a periodic 
function, f(x+p) = f(x), but 
then the function is not 1-1.
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36. .4472
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40. 20.89 min

42. [-1,1] 
Section 4.6 (continued)
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…only if we restrict the 

domain of f to: 
[image: image60.wmf]4

x

³

 

range of f-1 is the same.

… domain of f-1: 
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     range of f is the same.

42. {-1,1}
43. Let x = Sec-12, then 
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Review 4.6

1. 0 (mult. 2) and 

    2/3 (mult. 2)

2. 
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Section 4.3


Practice Exercises


2. � EMBED Equation.DSMT4  ���


4. � EMBED Equation.DSMT4  ���


6. � EMBED Equation.DSMT4  ���


8. � EMBED Equation.DSMT4  ���


10. � EMBED Equation.DSMT4  ���


�


11. � EMBED Equation.DSMT4  ���


�


12. � EMBED Equation.DSMT4  ���


�


13. � EMBED Equation.DSMT4  ���


�


14. � EMBED Equation.DSMT4  ���


�


15. � EMBED Equation.DSMT4  ���


�


16. We write:


� EMBED Equation.DSMT4  ��� and 


� EMBED Equation.DSMT4  ���





18. � EMBED Equation.DSMT4  ���


     � EMBED Equation.DSMT4  ���


20. � EMBED Equation.DSMT4  ���


    � EMBED Equation.DSMT4  ���


22. � EMBED Equation.DSMT4  ���


23. � EMBED Equation.DSMT4  ���


�


24.� EMBED Equation.DSMT4  ���


�


26. � EMBED Equation.DSMT4  ���


28. increasing on each defined interval


30. decreasing on each defined interval


31. incr � EMBED Equation.DSMT4  ��� 


� EMBED Equation.DSMT4  ���


decr � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


32. As x (the angle) gets small, the opposite side of the right triangle gets small also, while the adjacent side (on the unit circle) gets closer to the radius length.


34. � EMBED Equation.DSMT4  ���


�








35. � EMBED Equation.DSMT4  ���


�


36. � EMBED Equation.DSMT4  ���


�


37. � EMBED Equation.DSMT4  ���


�


38. � EMBED Equation.DSMT4  ���


�


39. � EMBED Equation.DSMT4  ���


�


40. odd


42. neither


44. � EMBED Equation.DSMT4  ���


46. � EMBED Equation.DSMT4  ���, left shift doesn’t change ‘p’.


47. � EMBED Equation.DSMT4  ���, up shift doesn’t change ‘p’.


48. � EMBED Equation.DSMT4  ���








Section 4.4


Class Exercises


1.�


2. �


3. with y = x �


4. sin(x) + -2cos(x)


�


5. � EMBED Equation.DSMT4  ���


6. � EMBED Equation.DSMT4  ���


7. � EMBED Equation.DSMT4  ���


8. � EMBED Equation.DSMT4  ���


9. Any multiple of the f.p. (fundamental period) is a period, p.


Hence, find the least common multiple (LCM) of � EMBED Equation.DSMT4  ���.


Ex/ Suppose � EMBED Equation.DSMT4  ��� and 


� EMBED Equation.DSMT4  ���are fundamental periods for f(x) and g(x), then � EMBED Equation.DSMT4  ��� is the fundamental period for the sum function:


h(x) = f(x) + g(x).


10. Dsin = all Reals 








Section 4.4


Practice Exercises


2. � EMBED Equation.DSMT4  ���


4. � EMBED Equation.DSMT4  ��� 


5. �


6. � 


7. � 


8. �


9.  with y = x �


10. with y = -x �


11. � 


12. with y = |x|


�








14. � EMBED Equation.DSMT4  ���


16. � EMBED Equation.DSMT4  ���


18. f(0) = 0 but 


f(� EMBED Equation.DSMT4  ���) = -� EMBED Equation.DSMT4  ���


20. f(0) = 0 but 


f(� EMBED Equation.DSMT4  ���) = � EMBED Equation.DSMT4  ���


22. Yes, the f.p. of cos – sin is � EMBED Equation.DSMT4  ��� which is the same as the f.p. of sine.


24. � EMBED Equation.DSMT4  ���


26. � EMBED Equation.DSMT4  ���


28. � EMBED Equation.DSMT4  ���


30. � EMBED Equation.DSMT4  ���


32. f + g (green)


�


33. pf = 1/120


pg = 1/150


pf+g = 1/30


34. �


36. Calculate the period and set the Xmin & Xmax. Set the Ymin & Ymax just beyond the estimated range.


38. You get a flat line (y = 0) when you add the 2 functions. Hence,


� EMBED Equation.DSMT4  ���


A proof (at this point in time) would use cos t = x/r and 


� EMBED Equation.DSMT4  ���





46, f.p. = � EMBED Equation.DSMT4  ���


�


47. f.p. = � EMBED Equation.DSMT4  ���


�


48. 


�


49. 


�


50. 


�


51. 


�





Test Yourself 


2.


�


4. � EMBED Equation.DSMT4  ���


�





6. � EMBED Equation.DSMT4  ���


TI-84 tip for looks!


Set Xscl = � EMBED Equation.DSMT4  ���.


�


Notice how the calculator connects the dots and makes it look like it drew vertical asymptotes!


7. How did I get those vertical asymptotes?


�


8. �


10. � EMBED Equation.DSMT4  ���


�





Section 4.5


Class Exercises


1. � EMBED Equation.DSMT4  ���


2. � EMBED Equation.DSMT4  ���


3. � EMBED Equation.DSMT4  ���


4. � EMBED Equation.DSMT4  ���


5. .5824


6. 1.2345


7. 2.0635





8. -.5018


9. 44o


10. 103o


11. 118o


12. -47o


13. 0.87


14. 0.3


15. � EMBED Equation.DSMT4  ���


16. tricky! � EMBED Equation.DSMT4  ���


17. � EMBED Equation.DSMT4  ���


18. ½ 


19. Got a weird graph… was in degree mode!


�


20. �


21. D = � EMBED Equation.DSMT4  ���


      R = � EMBED Equation.DSMT4  ���





Section 4.5


Practice Exercises


2. � EMBED Equation.DSMT4  ���


4. � EMBED Equation.DSMT4  ���


6. -.0220


8. .3844


10. 1.3181


12. 56.3o


13. D = � EMBED Equation.DSMT4  ���


      R = � EMBED Equation.DSMT4  ���





44. � EMBED Equation.DSMT4  ���


46. y = Sin-1(-x) iff Sin y = -x or 


-Sin y = x but principal sine is an odd function 


(Sin(-y) = -Sin y).


Hence, we have


Sin (-y) = x iff


-y = Sin-1x or 


y = -Sin�1x QED


48. arcsin x = sin-1x, 


the inverse relation (not the function) so this problem is just like solving the trig equation: sin x = � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


49.  constant � EMBED Equation.DSMT4  ���


�


50. � EMBED Equation.DSMT4  ���





Challenge 4.5


1. � EMBED Equation.DSMT4  ���


2. ½ 





Section 4.6


Class Exercises


1. � EMBED Equation.DSMT4  ���


2. 0


3. � EMBED Equation.DSMT4  ���


4. � EMBED Equation.DSMT4  ���


5. 1.4789


6. -.4395


7. 1.0603


8. -83.3o


9. 32.6o





10. 35.1o


11. � EMBED Equation.DSMT4  ���


12. � EMBED Equation.DSMT4  ���


13. � EMBED Equation.DSMT4  ���


14. � EMBED Equation.DSMT4  ���


15. � EMBED Equation.DSMT4  ���


16. � EMBED Equation.DSMT4  ���


17.


�


18. tangent is not defined at � EMBED Equation.DSMT4  ���





Section 4.6


Practice Exercises


2. � EMBED Equation.DSMT4  ���


4. 1.5275


6. .1350


8. 57.3o


10. -41.8o


12. 0


14. .6


16. � EMBED Equation.DSMT4  ���


18. � EMBED Equation.DSMT4  ���


20. � EMBED Equation.DSMT4  ���


22. � EMBED Equation.DSMT4  ���


23.  �











24. �


25. 


�


26. �


28. 


�


30. Tan-1 + Cot-1 = � EMBED Equation.DSMT4  ���


�


31. 


�


32. .7122o


34. y = x3 ,� EMBED Equation.DSMT4  ���


are both one-to-one,


but y = x2, � EMBED Equation.DSMT4  ���


are not inverses. 


y = Sin x, y=Sin-1x are both 1-1 but 


y = sin x is not.











Section 4.7


Class Exercises


1. � EMBED Equation.DSMT4  ���


2. � EMBED Equation.DSMT4  ���


3. 12, 1, 1


4. � EMBED Equation.DSMT4  ���


5. � EMBED Equation.DSMT4  ���


6. 7, 9, 1/9


    � EMBED Equation.DSMT4  ���


7. 6, 24, 1/24


   � EMBED Equation.DSMT4  ���


8. 10, 1/15, 15


9. .8, � EMBED Equation.DSMT4  ���


10. 1/440


11. � EMBED Equation.DSMT4  ���


12. He didn’t want to accidentally give the candle even a small push when it began.


Section 4.7


Practice Exercises


2. 40, � EMBED Equation.DSMT4  ���


4. 18, 1/60, 60


6. 110, � EMBED Equation.DSMT4  ���


8. 8, � EMBED Equation.DSMT4  ���


10. � EMBED Equation.DSMT4  ���


12. In simple harmonic motion, amplitude is the maximum displacement and period is the time for one cycle.  


14. 2, � EMBED Equation.DSMT4  ���


     � EMBED Equation.DSMT4  ���


16. � EMBED Equation.DSMT4  ���


18. � EMBED Equation.DSMT4  ���


�





19. � EMBED Equation.DSMT4  ���


�


20. .54 m


22.� EMBED Equation.DSMT4  ���


23. circular motion, many periodic motions that ‘damp’ out, vibrations


24. x-axis reflection


26.� EMBED Equation.DSMT4  ���


28. � EMBED Equation.DSMT4  ���


30.� EMBED Equation.DSMT4  ���


32.� EMBED Equation.DSMT4  ���


34.� EMBED Equation.DSMT4  ���


36.� EMBED Equation.DSMT4  ���


38.� EMBED Equation.DSMT4  ���


40. .026 sec,


� EMBED Equation.DSMT4  ���


Test Yourself 4.7


2. � EMBED Equation.DSMT4  ���    4. �


6. 40.5o   8. � EMBED Equation.DSMT4  ���


10. �


12. � EMBED Equation.DSMT4  ���


Summary & Review


2. dilation 3, left � EMBED Equation.DSMT4  ���


4. � EMBED Equation.DSMT4  ���


6.� EMBED Equation.DSMT4  ���


8. � EMBED Equation.DSMT4  ���


10. �


12. � EMBED Equation.DSMT4  ���


14. � EMBED Equation.DSMT4  ���


16. .3790





 


         





18. �


20. 2.1176


22. 1.2164


24. �


26. � EMBED Equation.DSMT4  ���


27. � EMBED Equation.DSMT4  ���


Test


1. � EMBED Equation.DSMT4  ���


2. � EMBED Equation.DSMT4  ���


3. � EMBED Equation.DSMT4  ���


4. � EMBED Equation.DSMT4  ���


5. �


6. � EMBED Equation.DSMT4  ���


7. � EMBED Equation.DSMT4  ���


8. � EMBED Equation.DSMT4  ��� 9. � EMBED Equation.DSMT4  ���10. � EMBED Equation.DSMT4  ���


11. � EMBED Equation.DSMT4  ��� 12. up 2


13. 15/8  


14. � EMBED Equation.DSMT4  ���


Challenge


� EMBED Equation.DSMT4  ���


Cumulative Review


1.B 2.C 3.C 4.A 5.C 6.C 


7.B 8.C 9.C 10.D 11.C 


12.C 13.A 14.C 15.A 16.A 17.B 18.C 19.B


20.� EMBED Equation.DSMT4  ��� 21. Reals


22. y=x 23. 25 24. odd 


25. � EMBED Equation.DSMT4  ��� 26. � EMBED Equation.DSMT4  ���


27. (-4,-5) 28. III, IV 


29. � EMBED Equation.DSMT4  ��� 30. (0,0),(4,0) 


31. III, -160o 32. � EMBED Equation.DSMT4  ���


33. � EMBED Equation.DSMT4  ���  34. � EMBED Equation.DSMT4  ���  35. undefined 36. 20.9cm 


37.  dilation 1/3 


38. � EMBED Equation.DSMT4  ���


39. 13.04  40. -1, 1 incl.


41. y = 3   42. � EMBED Equation.DSMT4  ���
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